

$$\frac{-791}{r} = 1 \quad \frac{f+g}{r} = c \Rightarrow m(r, c)$$

مضام

-1

$$\frac{1 - (-4)}{r - 4} = \frac{1f}{-r} = -v \Rightarrow \frac{1}{r} m + \frac{1}{v} = y$$

$$\sqrt{r\omega} = \omega \Rightarrow \frac{f}{-r} \Rightarrow -\frac{f}{r} m - \frac{f}{r} + \frac{1}{r} \Rightarrow -\frac{f}{r} m + \frac{1}{r} - y = 0$$

$$\frac{|-\frac{1}{r}|}{\frac{1}{r}} = r \Rightarrow |r - \omega| = r$$

$$d = \frac{|\omega|}{\sqrt{r_0}} = \frac{\sqrt{\omega}}{r} \Rightarrow r m = \frac{\sqrt{\omega}}{r} \quad m = \frac{\sqrt{\omega}}{r} \Rightarrow s = \frac{\omega}{r}$$

$$m = r \quad y_m = r \Rightarrow d = \sqrt{1 + r\omega} = \sqrt{51}$$

$$m = -1 \Rightarrow y = -m + \omega$$

$$\Rightarrow d = \frac{9}{\sqrt{r}} \sim \left| \frac{1}{r} - 4 \right| = \frac{1}{2} \Rightarrow \frac{\sqrt{r}}{r}$$

$$\frac{m+1}{r m - 2} \times \frac{r m - 2}{\omega + m} = -1 \Rightarrow \omega m^2 - \omega m \neq 0 \quad \Delta < 0$$

$$\sqrt{\left(\frac{\sqrt{r}}{r}\right)^2 + \left(\frac{1}{r}\right)^2} = \frac{\omega \sqrt{r}}{r} \sim m - r - y = 0$$

$$\frac{|4(1) - (1) - 2|}{\sqrt{1^2 + 1^2}} = \sqrt{r} \Rightarrow \frac{\omega \sqrt{r}}{r} = \frac{\omega}{r}$$

$$1 - (-1) = 2$$

$$\frac{f}{m} m + r = m(1-m) + r$$

$$\Rightarrow h = r$$

$$-y - 1 = 1 - rm - r \Rightarrow y = rm - 2$$

$$r h - u = r(y) - (r) = 1a$$